_______________________________________________________________ 

Excel Assignment #4– EC 11

Cost Curves – The Acme Shoe Company
______________________________________________________________________________

The purpose of this assignment is to familiarize you with the cost curves – marginal cost, average variable cost and average total cost – that we will use to describe the behavior of the firm.

You must turn in:

· Your spreadsheet
· A copy of your graphs
· A copy of the answers that appear at the end of this assignment
Directions:
On my webpage, retrieve the excel spreadsheet that accompanies this assignment. On that spreadsheet you will see the costs associated with a particular level of output for Acme Shoe. Note that the fixed costs do not change as quantity changes.

Step 1:

Go to cell D2. Type in the formula:


=B2+c2

Click and copy this formula down the entire column. Your numbers should look like this:

Step 2:
In cell E3, input the formula (representing average variable cost):


=C3/A3.

Note that we are skipping the first observation, as we would be dividing by zero. Copy this formula down the entire column. In cell E8, you should have the number 8.75 for AVC.
Now go to cell F3. Input the formula (representing average total cost):


=D3/A3

Click and copy this formula down the column. Look at your numbers in columns E and F. What is the difference between the two values in any row?

Where is Acme’s ATC minimized?
Step 3:
In cell F3, input the formula (representing marginal cost):


= (D3-D2)/(A3-A2)
Copy this formula down the column. Your last entry should be 22.5 in cell G12.

Step 4:
Highlight columns E, F and G. Click on “insert”. Choose an X-Y graph, and insert it into your spreadsheet. At this point you should save your work.

Click on “layout” (under chart tools). Choose chart title and enter “Cost Curves for Acme Shoe”. Now click on axis titles. Label your x-axis as “Quantity” and your y-axis as “cost”.
Print both your spreadsheet and your graph. Make sure your graph has the appropriate labels described above.
Questions:
1. Examine your spreadsheet. Why does the MC fall initially, and then rise?

2. Look at your figures for both AVC and ATC for Acme at the point where the MC crosses these curves. What can you say about these two points? Be explicit.

3. If the price that Acme receives for its shoes is fixed at $15 (regardless of output), where would the firm decide to produce? (hint: you might want to set up a column that represents revenue ($15*Q) – total cost (column D))
a. Determine the firm’s profits at this point.

4. Is the firm producing at the point of lowest ATC as we might imagine they should? What does this say about a “cost-minimizing” strategy at a competitive firm?
